Akers BK
Barometer IMP 2018-11-12

IMP over féltet, 4 bord, 7 par. Antal brickor: 28.

Plac Par Poéang Namn MID Klubb
1 3 136.5 Stig Carlsson - Bo Westh 94097 11733 Akers BK
2 5 107.3 Ola Sarnkvist - UIf Sarnkvist 80001 9415 Akers BK
3 2 -4.7 Kaarina Blomkvist - Ingela Malmberg 91034 49926 Akers BK
4 8 -43.2 Kerstin Eklund - Christer Hellkvist 30029 28767 Akers BK
5 7 -44.3 Birgitta Lindesater - Karl-Uno Blomkvist 61554 9412 Akers BK
6 1 -74.7 Elisabet Matséus - Christina Pernvi 64185 64184 Akers BK
7 6 -77.0 Gudrun Johansson - Gurli Signon 93015 55807 Akers BK
1 « EDKNn107653 Bésta kontrakt 2 4 Kn105 Bésta kontrakt 3 & E752 Bésta kontrakt
Nord vD75 34 N =140 Ost v EKn10743 5¢ O =-400 Syd v K64 34 S =110
Ingen .- NS +D ov + D42
«D6 & ¢ v & NT «D106 & ¢ v & NT #E54 & ¢ v & NT
49 & K82 N6 58965 4E9743 46 N7 2865 4 K986 443 N9 58765
v K86 v 1032 S657 95 vD2 v K98 S72755 vD82 vEI105 S95875
4108752 ¢ EDKn6 06 85 47 ¢ 107652 ¢ EKKn98 O6 115 7 8 ¢E87 #KKn10963 O 3 8 5 6 7
*K752 *E93 V68547 *2 #KKn98 vV 6 115 7 8 #K73 %106 V385638
a4  KD82 & DKn10
v EKn94 v 65 v Kn973
+ K943 +43 +5
#Kn1084 #E7543 #DKn982
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
2 7 44 N= ¢A 420 6.0 -6.0|3 6 3¢ 0= v6 -110 20 -20 (3 6 2vS= ¢A 110 12.0 -12.0
3 6 44 N= &3 420 60 -6.0|2 7 3¢40+2 v6 -150 -1.0 102 7 2¢vS-2 46 -100 -3.0 3.0
8 1 3¢ N+1 +6 170 -12.0 208 1 4¢ O+1 v6 -150 -1.0 1.0 (8 1 2NV +2 &4 -180 -9.0 9.0
5 - 3.8 5 - 3.8 5 - 3.8
4 o E Basta kontrakt 5 494 Basta kontrakt 6 » EK10653 Basta kontrakt
Vast v EKD985 5¢ N =650 Nord v D843 44 O D -1 100 Ost vK4 54 S =450
Alla + K1094 NS + EKn102 ov + KD
#85 & ¢ v & NT #KKn9 & ¢ v & NT #K85 & ¢ v & NT
aKD6  4Kn83 N 4 11118 6 s E » K87632 N49 879 49 « D7 N 6 105 117
v10762 vKn4 S 4 11118 6 vKn75 vE10 S498709 vD9763 ¥EKn1082 S 7 104 117
48653 ¢7 071235 +8 ¢+ D754 09 456 4 ¢Kn85 ¢743 052812
*E4 #KD109762 V 7 1 2 3 5 #ED876532 #10 V9 4464 #EKN97 #632 V52812
41097542  DKn105 & Kn842
v3 v K962 v5
¢ EDKn2 + K963 + E10962
#Kn3 *4 «D104
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
8 1 3NS+2 3 660 11.0 -11.0 |3 1 4v N-1 &T -100 0.0 003 1 44 N+3 vJ 510 50 -5.0
3 6 4y N= *7 620 80 80|65 3aV= 49 -110 0.0 00 (8 2 44 N+1 vA 450 -1.0 1.0
2 7 29 N+3 &2 200 -190 190 |8 2 34V-= ¢ A -110 0.0 00 |6 5 44 N= vA 420 -4.0 4.0
5 - 3.8 -7 16| - 7 -1.6
7 & KKn10532 Bésta kontrakt 8 & EKn852 Bésta kontrakt 9 & K1062 Bésta kontrakt
Syd v8 3¢ S =110 Vast vD74 44V =-130 Nord v EK6 44 N =420
Alla ¢ E872 Ingen + E852 ov + K8
108 & ¢ v & NT «D & ¢ v & NT #Kn952 & ¢ v & NT
« E96 « D74 N597 86 «KD # 10963 N388765 498 ~E75 N 106 10108
vD1064 vE93 S597 86 v 953 vE8 S 38875 v1087 vD53 S 106 10108
493 + D104 084657 ¢ 107 ¢ KKn3 O 104 5 6 7 ¢E9543 ¢DKnl1072 O3 7 3 3 3
#Kn532 #EK94 V84657 #EKKNn1032 #9864 V 104 5 6 7 #1043 #86 V37333
48 a74 & DKn43
v KKn752 v KKn1062 v Kn942
¢ KKn65 + D964 +6
*D76 *75 #EKD7
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poang
8 2 24 N= &K 110 11.0 -11.0 |3 1 3¢ N= &4 110 120 -120 |5 1 44 N+1 3 450 10 -10
31 24N-1 ¢4 -100 -3.0 30|6 5 3&«V+l v4 -130 -6.0 6.0|7 6 44 S+1 T 450 1.0 -10
6 5 INO+2 5 -150 -8.0 80 (8 2 44V = ¢ A -130 -6.0 6.0 8 3 44 N= ¢+Q 420 -2.0 2.0
-7 16| - 7 16| - 2 -0.2
10 4E5 Basta kontrakt 11 .- Basta kontrakt 12 4 KD832 Basta kontrakt
Ost vDKn 34 O =-140 Syd v KD52 4% S =130 Vast vED7 ANT N =630
Alla + Kn7 Ingen + EDKn85 NS + K107
»E876432 & ¢ v & NT #KKn63 & ¢ v & NT *75 & ¢ v & NT
4 K9432 & DKn86 N9 8 4438 4 DKn92 «E107 N 107 7 7 7 4 E754 « Kn96 N 6 6 108 10
vEK1097 v862 S 984438 v 643 v EKn108 S 107 7 7 6 v 109 v8 S 6 6 108 10
496 ¢ D52 035895 ¢7432  + K96 03556 6 ¢ Kn4 ¢ E98632 076 353
&D #KKn9 V35895 »87 #E92 V35566 #Kn10843 #E96 V67353
» 107 & K86543 410
v543 v 97 v KKn65432
+ EK10843 +10 +D5
#105 #D1054 #KD2
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
7 6 3¢ S= vA 110 70 -70 |5 1 24 N+2 v8 130 11.0 -11.0 |5 1 4v S+1 44 650 1.0 -10
51 3aV-1 «A 100 70 -70 (7 6 24 S-1 v6 -50 -3.0 30|7 6 4vS+1  ¢J 650 10 -10
8 3 3aV+l ¢J -170  -140 140 (8 3 INO+1 45 -120 -8.0 8.0 (8 3 4v S= +J 620 -2.0 2.0
-2 02 |- 2 02 |- 2 -0.2
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13 4 K874 Basta kontrakt 14 4 E93 Basta kontrakt 15 4 K1087 Basta kontrakt
Nord v KKn73 INT O =-90 Ost v 863 4¢ OD-2300 Syd v4 5v V =-450
Alla + K6 Ingen + KD NS + 863
»E82 & ¢ v &N #KKn1084 & ¢ v & NT #ED853 & ¢ v & NT
« EKn109 4D63 N7 6 6 6 6 & DKn7 4 K10854 N9 48509 4DKN96 - N7 3183
vD8 vE1092 S7 6666 v- vDKn1075 S 104 8 5 9 vKnl072 v EKD85 S73183
¢ Kn10873 ¢ 95 06 6 6 77 ¢+ E1096432 ¢ 87 O3 8484 + Kn97 ¢+ EKD54 O 5 10115 6
«D10 £K964 V66677 +D75 *6 V 38484 *104 #Kn62 V 5 10115 6
452 462 & E5432
v 654 v EK942 v 963
¢ ED42 ¢ Kn5 ¢ 102
#Kn753 #E932 *K97
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 2 1y N+1 +9 110 11.0 -11.0 |5 3 4vDS-1 +A -100 30 -30(17 4v0-1 LY 50 17.0 -17.0
53 2¢vN-1 +9 -100 -4.0 40 (6 2 4¢ V= 4 A -130 0.0 006 2 1vO+4 o7 -200 0.0 0.0
17 24V+1 +6 -140 -7.0 70 |1 7 5#N-3 *7 -150 -3.0 30|53 4vO0+1 T -450 -17.0 17.0
8 - -1.5 8 - -1.5 8 - -1.5
16 4« KD10532 Bésta kontrakt 17 4« D65 Bésta kontrakt 18 4 D74 Bésta kontrakt
Vast vE6 2NT N =120 Nord v E85 34 OD-1100 Ost v 10972 5& O D -2 300
ov *2 Ingen + D743 NS + EK864
#EKn83 & ¢ v & NT #D95 & ¢ v & NT *9 & ¢ v & NT
4 Kn7 » E864 N6 9 8 8 8 10 #EKKN872 N 4 8 8 6 8 & EKn5 #1096 N 4 9 109 7
v K82 v 10975 S6 9888 vD1073 vKn4 S48757 vE vD54 S 49 109 7
¢ ED987 - 06 3545 49852 +Kn 0855765 ¢D1073 +95 09 4246
#1054  #D9762 V73545 #10874 #KKn62 V85575 #KKn853 #D10764 V9424E¢6
49 4943 & K832
v DKn43 v K962 v KKn863
+ KKn106543 + EK106 ¢ Kn2
&K »E3 &E2
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poéang
5 3 3aN= *6 140 120 -120 |2 1 3¢ N= 4 A 110 180 -180 (2 1 4v S= &J 620 220 -22.0
17 3¢S-2 &T -100 -6.0 6.0(8 5 14 O+1 #A -110 30 -30 (|7 3 2¢S+2 &5 170 -3.0 3.0
6 2 3¢ S-2 aJ -100 -6.0 6.0 |7 3 4vDS-3 T -500 -21.0 210|8 5 4vS-1 &3 -100 -19.0 19.0
8 - -1.5 6 - -2.8 6 - -2.8
19 « KD4 Basta kontrakt 20 & KKn Basta kontrakt 21 4103 Basta kontrakt
Syd v2 2¢ S =90 Vast v E98 3¢ N =110 Nord v 97 3¢ O =-110
(6)) + KKn1042 Alla + EDKn6 NS + K74
#EKN103 & ¢ v & NT #Kn1073 & ¢ v & NT #KD9743 & ¢ v & NT
#8652 4 E107 N58 7 6 6 4 ED10986 &743 N9 9 757 a2 « ED9874 N8 3557
vED87 vK4 S587 66 v63 vD10754 S99757 vK6542 v108 S 93557
¢E65 83 084677 2 ¢ K1093 04 4685 ¢+ E10986 ¢ DKn3 049876
*97 #KD8642 V84677 #D942 &K V44685 *E2 #Kn6 V49886
4 Kn93 452 & KKn65
v Kn109653 v KKn2 v EDKn3
+ D97 + 8754 +52
*5 *E865 #1085
Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéan Par  Kontr Ut Res Poéng
21 3¢ N-1 v4 -50 20 -20 (2 1 INN+3 ¥4 180 140 -140 |8 6 3vV-4 &3 200 14.0 -14.0
8 5 3¢ N-1 +8 -50 20 -20 (7 3 24 V= v8 -110 -7.0 703 2 24 O= +5 -110 -7.0 7.0
7 3 3vS-2 *9 -100 -4.0 40 |8 5 24 O= *A -110 -7.0 70 |7 5 24 V= v9 -110 -7.0 7.0
6 - -2.8 6 - -2.8 1 - -2.7
22  EDKn8 Bésta kontrakt 23 & EK952 Bésta kontrakt 24 41098 Bésta kontrakt
Ost v Kn1083 5& S =400 Syd v 86532 5¢ V D-2500 Vast v Kn52 5v V =-450
oV +84 Alla *- Ingen + D95
#854 & ¢ v & NT #Kn32 & ¢ v & NT #9752 & ¢ v & NT
21032 #K94 N 117 6 9 8 w63 4 D1074 N 104 107 4 4K742 4 D65 N25232
vD9642 v EK75 S 117 6 9 8 p74 vE9 S 104 107 4 v74 v EKD83 S25232
¢+ KD10 #9763 02 6 7 4 4 pKDKnl07532 +¢964 039346 4 862 ¢ E10 O 118 111010
&Kn2 £96 V257 44 m9 #ED75 V39346 #ED103 #K84 V 117 111010
4765 «Kn8 » EKn3
v- v KDKn10 v 1096
¢ EKn52 ¢+ E8 + KKn743
#EKD1073 #K10864 #Kn6
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
75 5#S= a2 400 210 -21.0|3 2 4v S= &9 620 170 -17.0 |8 6 2¢ S-3 &3 -150 10.0 -10.0
3 2 3NN-1 +6 -50 -7.0 70 |8 6 5¢ V-3 LN 300 -5.0 503 2 29 0+3 ¢4 -200 50 -5.0
8 6 2¢ S-3 ¢+ K -150 -140 140 |7 5 3NO-2 vK 200 120 120 (7 5 4vy O+2 44 -480 -15.0 15.0
1 - -2.7 1 - -2.7 1 - -2.7
25 4 D42 Basta kontrakt 26 4 D965 Basta kontrakt 27 4 EKn10 Basta kontrakt
Nord v Kn964 6¢ ND-5-1100 |Ost v K852 44 S =620 Syd v E5432 4¢ N =130
oV ¢ 107542 Alla ¢ E7 Ingen + 854
a4 & ¢ v & NT #1083 & ¢ v o NT £104 & ¢ v & NT
485 «EKN10976 N1 7 6 1 1 #1032 874 N 9 6 10106 4652 « KD9%4 N 6 108 7 8
vE1073 ¢8 S17611 v 64 v EKn7 S 9 6 10106 vD106 vKn97 S6 9878
¢ ED6 +9 O 125 7 119 ¢ Kn98653 ¢ KD2 037235 ¢32 ¢+ E106 073465
#EKn85 #KD962 VvV 125 7 119 #EKn #7652 V37235 #KDKn65 #983 V734635
4 K3 & EKKn 4873
vKD52 vD1093 vK8
+ KKn83 ¢ 104 + KDKn97
#1073 +KD94 *E72
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
16 200+ vQ -230 240 -240 (2 5 4vS-1 +3 -100 6.0 -6.0|8 7 INS+1 &K 120 6.0 -6.0
8 7 3NV+1 vJ -630 30 -30|1 6 4vS-2 &A -200 -3.0 301 6 2¢ S+1 &K 110 50 -5.0
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25 68V= *4 -1370 270 270 |8 7 3NS-2 +5 -200 -3.0 30|12 5 2NS-2 &K -100 -11.0 11.0
-3 49| - 3 49 | - 3 49
28 4862 Basta kontrakt
Vast v 982 34 N =140
NS + ED92
&#Kn65 & ¢ v & NT
443 & DKn5 N7 7 79 8
vKn75 v KD63 S77798
¢ KKn10 #7543 O6 56 4 4
#D10972 #E3 V54544
& EK1097
vE104
+ 86
#K84
Par  Kontr ut Res Poang
25 24 S+l v5 140 6.0 -6.0
8 7 14 S+2 *K 140 6.0 -6.0
16 24S-1 &2 -100 -12.0 12.0
-3 4.9
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